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WA H1) 20 Veil el U1 o154 8. o]l HedH Hel2 Udle 25 mA Sl dlR <

qedH YR Q Y9l
AR
Question: R
A I RL
| |
| !
20V
Topic: Physics-Section B
Item No: 59
Question ID: 1269459




Question Type:

Numeric Answer

6] (s vi(52d yslell A el B w58 255 va 162 B2dl &Y [udis 8. %)
URHHE A2l UIR dH e v M yfseals(l qudl Sl dla=

Question: HIR % Bedl UHUHL B UIReti (5ol 2iual e Acll (56Ul
.
A=l 2 lld? e Y2l
Topic: Physics-Section B
Item No: 60
Question ID: 1269460
Question Type: | Numeric Answer
500 uF AHRSdLHLdd W5 AR5 100 Vell Geald 95 Hyul 2ld ([agdetizld
Question: 534 9. &4 del 50 mH +1l §o5522 U1 %S| Le URue wetiddidi 214 8. L
YRuaHi HedH udle Agl.
Topic: Chemistry-Section A
Iltem No: 61
Question ID: 1269461
Question Type: | MCQ

U[sle tleu €,
4 HNO;(1) + 3KCl(s) — Cly(g) + NOCl(g) + 2H,0(g) + 3KNO4(s)

Question: 11 10.0 ¢ KNO, o Gellget 52l HNO; o1l %3] 1141 204,
A RUIRAIL 6N H 1.0 16. N : 14 WA K : 39)

A: 322¢

B: 69.4 ¢

C: 015¢

D: 162.5¢g

Topic: Chemistry-Section A

Iltem No: 62

Question ID: 1269462

Question Type: | MCQ

o 4 58 52leilel] sl2H 25 w141 D,
A.n=3,1=2 mi=1, m =++1/2
B.n=4,1=1 =0, m =+1/2

Question: C.n=41=2m=-2.m=-1/2
D.n=3,1=1 m=-1,m,=41/2
qydl Gesdedl A1) s4 204l

A: D=B=<A<(C




B: D=A<B=C

C: B<D<A<C

D: B<D<C(C<A
Topic: Chemistry-Section A
Item No: 63

Question ID: 1269463

Question Type: | MCQ

C(s) + Ox(g) — CO,(g) + 400 kI
C(s) + 304(g) — CO(g) + 100 kI

Question: o013 60% ec,l drlddl Sletrilel 2y2dl 2L [5reo{] e1wTUi o=t 52l
60% Slodel «co Ui el o415 284l <Co, Ui 2UIdR WA 8. %12 0.6 ke
sladlel slladidi 2418 AR Geust 2] Gw

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kI

Topic: Chemistry-Section A

Iltem No: 64

Question ID: 1269464

Question Type: | MCQ

200 mL 0.01 M HCI <l 400 ml 0.01M H,S0, 318 (M8l 52q1Mi 2412 8. dl

(Hs1a1efl pr 2014
(AU : log 2 = 0.30.

Question: log 3 = 0.48,
log 5 =10.70,
log 7=0.84,
log 11 =1.04)

A 1.14

B: 1.78

C: 2.34

D: 3.02

Topic: Chemistry-Section A

Item No: 65

Question ID: 1269465

Question Type: | MCQ




o120 3edls arRfulleil silds diuHiedl 204 .

ay silds dludld &)
He 52
Question: CH, 190.0
CO, 3042
NH; 1053

s 1Y Sle ol ALssH weel] Gu ledl 210 [N ymsl 2

A: He

B: CH,

C: CcO,

D: NH;

Topic: Chemistry-Section A
Item No: 66

Question ID: 1269466

Question Type: | MCQ

Question: 2let HI2 qurldl ¢aaidet UsHUi, Hig 20l

A: of| Ulsul v1[1s 119 529 1d 8.

B Yefldi 2o1g i w418 8.

C: o1 g didl % %= aler Guell adasiddliH w1d 8.
D NaOH 14 2|6 (fused)

Topic: Chemistry-Section A

Iltem No: 67

Question ID: 1269467

Question Type: | MCQ

o{|2 ¢ [Aylst w104l B,
[Aellet I: oot W 1RARL S1E5185+] Gelerial D,

Question:
[Aelet 1 R2etet UM Al 19 B,
(Uil & (A |oflell He¢HT o1 wiAaHiel]l M) 2rdled 2014,
A: ojel [y el 1 wa [AY Lol T ML D,
B: ojel [qy el 1 2 [Ayled 11 W2l 8.
C: [Aeiet T 213 B, Ud (At T vl B
D: (At T Ul 8, ug (Aelet T 11 8.

Topic: Chemistry-Section A




Item No: 68
Question ID: 1269468
Question Type: | MCQ

Question: Y12des (Mo «x "1d 8 9% Al 21684 9413 8, dl <x 201l
A: CaSO,. %HED
B: CaS0,. 2H,0
CaSO,
D: CaCO;
Topic: Chemistry-Section A
Item No: 69
Question ID: 1269469
Question Type: | MCQ

o113 61381l CoO U1 W24 dlel]l 55| GU A 53dl dlevil 291-{] HLLs)

Question: 1y it el @, detl Hide] Hl21etd] 51281
A: B,0;

B: Co(BO,),

C: CoB 404

D: Co[B405(0H),]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

of |2 24104 US| 56 3d-tld W™t 213 A= WU 2P1ag Ml #1d R

QeSO qgyetat ogalloget Featl el (AH, g) U4,
A 2t

B: Ml

C: Fel™

D: Co2"

Topic: Chemistry-Section A

Item No: 71

Question ID: 1269471

Question Type: | MCQ




S1UR (11) <1l A sasly Alsel cigrely [asdl um 8. (@l 2¢?). {12 24104l

Question: s1yz (1) (5.l Usl sl lefl Hedu ol ze{ly (asdl c21lal. (en - Selldl
SIU¥H|G1: H,N-CH,-CH,-NH,)

A: [Cu(H,0)5]50,

B: [Cu(en)(H,0),4]S0,

C: cis-[Cu(en),Cl,]

D: trans-[ Cu(en),Cl,]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1269472

Question Type: | MCQ

SISal621osel W5 Aede (Heyelel] ([Aeest) Ul B, uid d 9y GluLs

Question: deil ASUIDS] Welld 8. W5HITS % H1Seil UILSIHA o5l 53 8 w1
usi2l ANl ulsaie {yl 53 8. d 204,
A: NO
B: NO;
C: NO,
D: NO,
Topic: Chemistry-Section A
Iltem No: 73
Question ID: 1269473
Question Type: | MCQ
Question: y-(H 159 U 1U54) 53l sl [eslelgse] w1y eidRel 01kl
0
|
A: H
||
CH, —C—H




C: H
i
CHy—C—H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

Aoyt <47 o1 uH 18l ulsardlell Aell &0 Adlowed 5 ¢ld 8. B o Al
oig 11l el defl (521612l 201l

[%l Bt = C,H,]
Question: (i) Mg, EtrO B
(i) D20
Br -
Compound "A'
A: >—< ¥[5219
D
B: >—< (5214
oD
c: >—< (5214
D
. €
D: >—/\ op 2B
Topic: Chemistry-Section A
Item No: 75
Question ID: 1269475
Question Type: | MCQ




o120 & [ayeil 24041 .
CH;
I NO,

([ay el 1: 2ot oy uslel (sulella.

-~
Question: CH; (A)
CH;
[Qutel 11: 927 |
H Sy
s CH;
3] GURAsd Aloret A o w11 uldloje 8.
GUzel [queiloll HeelHi «{12 2104] [asefluiodl] qlell A1 ool Ye 53,
A: oj (Al 1 24 (dule] 11 ML .
B: ofa [yl 1 24 (qulef 11 W21 8.
C: (Aslst 12 AR B, Uid (ddlet 1 vilE B,
D: (Aelet Tullg B, Uid (Qulst 11 AR B.
Topic: Chemistry-Section A
Item No: 76
Question ID: 1269476
Question Type: | MCQ

o113 Selelleal Aig H,50,, A8 U5l 52l dly Gedsd 2l 8. 241 dyedl 551,

Question: , ) :
He, QA2 Ulsusei ey ¢ldnl oS ulsdl s2dl % ddloret o & d 20l
A: sluleslelss
B: slHs w(zs
C: =T
D: SHESERN TS
Topic: Chemistry-Section A
Item No: 77
Question ID: 1269477
Question Type: | MCQ

Question:

[Sorodol Ulsus 2014,




8]

A: ﬁ -l
0
N," CI
S
0
C: @i:hl K’
y
D- /@/
HO
Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ
Question: of| At Usl 52Ul sedl UldlHR (1eds) -9l 2
A: il
B wlid
C: i B
D et
Topic: Chemistry-Section A
Item No: 79
Question ID: 1269479
Question Type: | MCQ

o1 & [Aylefl 2061 B W 5ol 52Ut A A4S W oflontel SRR 945 Qoid 53¢ ).

58e] A: VIHINEL YR wiglcy B,

Question: 1 ¢ 12al R: WM lob A diodl 3udla 243y B, BHi 2009 GHI3 9G Slosetl 54
Sl 9,
Gustl [qulefledl Heelui «{12 21106] ([asailui] HRil ardle] Uds 3.

A: Gl A 2 R HIUL B 24l R W A HIZeA] AR




B: ool A 3ol R AL D, U R 2 Acil A1 qHogdl
C: AUR D YR UIZ B

D: AR Al YR U B

Topic: Chemistry-Section A

Item No: 80

Question ID: 1269480

Question Type: | MCQ

AUl X [c1ofo] WS D e NaOH U1 CH;COOH=1 d2re]528] £l

Question: AU [0ig o1 seil pH GU 220 URadst Ue(Rd 53 B, Adlloget «x Al[»5
Hiedd detl AR S d2yn] W Reded 9219 8. d) il <X 201l

A: (M6 21130

B: [Hea164 3s

C: [seileseilst

D: Sldlsl uds T

Topic: Chemistry-Section B

Iltem No: 81

Question ID: 1269481

Question Type:

Numeric Answer

{102 w1 [54%1 (0,) =il “x’ gl 200 g [o1dlst (Ne) 12 (M8 sRaMi 2419 D,
(5212016 0, 4 Neell (U811 €011l 412G 1M1 25 bar 8. Ne of ui[215

Question:
£OL1QL, HH I dlUHLe el 58 20 bar 8. dl *x’ =
RAMNE: ARl £901 0, = 32 g mol L, M1RA]A £ Ne =20 g mol ]
Topic: Chemistry-Section B
ltem No: 82
Question ID: 1269482

Question Type:

Numeric Answer

PF.. BrF.. PCl. SF. [ICI,]". CIF;. [F ol eleiH gl

Question: GURLscl WAL AAIHE % spd? U501 Hlddl el ddl 1E|dl) +udl
By [Ue(ell)e] vl 2l

Topic: Chemistry-Section B

Item No: 83

Question ID: 1269483

Question Type:

Numeric Answer




1.80 g ¢led Al 62.5 cm® S9ellqu] wUANAIH] 211D O v [ GldBle] 5121
[edg 155.1 K HIgH USY,. dl ¢led Ad{ HldR 01 g mol~1H[ 2[l4].

Question: : ;
Heston 110e: §alaq] 5128 [6ig 156.0 K. SAeldel teldl 0.80 g cm™3, S&ellde)
612(0dg, vidstsl WAN[S 2.00 K ke mol 1)
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 1269484

Question Type:

Numeric Answer

15 51N H[2.Cu(s) | Cu?™(0.001M) || Ag™ (0.01M) | Ag (s)
SIN A5 208 K 2 0.43 V HIGH USAL dl uHL[@d £8521s Ul [2-21u4-il

Question: HlAL cu?™/cu Hle x 1072V 9.
Given:E® _ =0.80V and 2303RT _ h.06v
Ag’ JAg
Topic: Chemistry-Section B
Item No: 85
Question ID: 1269485

Question Type:

Numeric Answer

4131l 3, 1ng 20601 UMM (5 1 (529 ded X 3 Bof 24e 24141 30 9N B,
% Gl geii Aa2iNeL UR 8. dl 100 4y wile Xe{l Hi-l % geui 282 d

Question: '
< 10~ ugHi 2014l
[A1U4 : In 10 =2.303: log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question ID: 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] Hi slodlc2efl 2 (5215211 wc2e| 24el 9ol 24[ 501l Hra(v1]

2
(19 : bpy = /

Question: \ / \
)
—N N—
Topic: Chemistry-Section B
Item No: 87
Question ID: 1269487

Question Type:

Numeric Answer




o2 2106 HEs2 wHIR]d 2151 VL[S H17] 4l

Question: HESOEI 5 H2504 = HESEOS and HESEO]"‘
Guetl w15l RAUS) WSl 3 BHi U5l (0—0) sibsil v 8.
Topic: Chemistry-Section B
Item No: 88
Question ID: 1269488

Question Type:

Numeric Answer

1.84 mg Uldlel8sls vies1eldsil 25 oiysil Adloget <X B 11dld €01 92,0

Question: g/mol © d STP U2 1.344 mL H, 413} WU 9. dl lloy=l <X Hi 241eslel(ds
Sl Slosetatlofl 2fuall 8.

Topic: Chemistry-Section B

Item No: 89

Question ID: 1269489

Question Type:

Numeric Answer

(+£)Ph(C=0)C(OH)(CN)Ph =il HON 418 U(5Ul 52l Gust Ul ud512ily

Question: U2 5ol vl 8.
[%dl Ph is = C4Hs-]

Topic: Chemistry-Section B

Item No: 90

Question ID: 1269490

Question Type:

Numeric Answer

Question:

sq12 wsleflslg e e A-lgH 2861 sel il WaH g pdlefl vl w4
Vs B,




